48R cHEF  F(BELATE)
Boa? FEEZ TAEHL S RFFBIBYE
i

[ri4E- 1]
@ 4ra,b,c,d 31D o @P (1-a)(1-b)(1-c)(1-d)>1-a-b—c—d -
[$372% 1] f1* & kv

24 % (1-a)(1-b)=1-a-b+ab>1-a-b -

~.(1-a)(1-b)(1-c)>(1-a—b)(1-c)=1-a-b-c+ac+bc>1-a—b-c >

~.(1-a)(1-b)(1-c)(1-d)>(1-a-b-c)(1-d)=1-a—-b-c—d +ad +bd +cd >1-a-b—-c—d

1. - %% (l-a)l-b)=1-a-b+ab>1-a-b
2. = pR#E (1-a)1l-b)l-c)>@1-a-b)l-c)=1-a-b—-c+ac+bc>1-a-b-c
3 ¢ R 1-a)l-b)l-c)@-d)>(1-a-b-c)1-d)
=l-a-b-c-d+ad+bd+cd >1-a-b-c-d

(%3738 2) 4t f fi* S ez wiFe
(1-a)@-b)d-c)(1-d)
=1-(a+b+c+d)+(ab+ac+ad+bc+bd+cd)-(abc+abd +acd + bcd) + abcd
=l-a-b-c-d+ab(l-c)+ad(@—b)+ac(l—d)+bc(l—a)+bd +cd +abcd
>l-a—-b-c-d



